Precalculus: Vectors Notes

What is a scalar?
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Examples of scalars:
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What is a vector?
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Examples of vectors:
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There are different ways to represent a vector.

Sketch the vector v with initial point
(1, 5) and terminal point (-4, 3)

Find the component form of the
vector v by subtracting the initial
point from the terminal point.

Sketch the component vector of v.
What is the relationship between the
component vector and the initial
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To change to linear combinations form, use (x, — X, )i+(
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Try these:

EX 2: Draw the vector given its component form
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EX 1: Draw a vector with v with inmPl point (2, 3) and
terminal point (0, -5)




Precalculus: Vectors Notes

What is a scalar? _H“ ai’ Examples of scalars:
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What is a vector? Examples of vectors:

A %uanb% Hyat has dis Iaumyu‘: a.ccq deiodo
maﬁmmdu + ol oy \/L,(ocm‘y/ ka’l

)

There are different ways to represent a vector.

Sketch the component vector of v.
What is the relationship between the
component vector and the initial

vector? W

Sketch the vector v with initial point | Find the component form of the
(1, 5) and terminal point (-4, 3) vector v by subtracting the initial
point from the terminal point.
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Try these:

EX 2: Draw the vector given its component form

w=(3,-4) begic ot (0,0

EX 1: Draw a vector with v with initiFI point (2, 3) and
terminal point (0, -5)
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EX 3: Draw the vector v give
Vv =2i+ 5§

s linear combination form | EX 4: Draw the vector u with a magnitude of 12 mph at

<2,57 |* v Lin gt

3

Ex 5: Draw a vegtorgith a magnitude of 8N at 15° east of | EX 6: Draw a vector with a magnitude of 20 km/h due
north. : 0 south. |
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Find the component form of a vector given its magnitude and direction: use <A COS 9’ Asin 0> LS
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Ex 7: Find the component form of a vector with a Ex 8: Find the compcfnent form of a vector with
magnitude of 30 mph at 40° <)L Yy > magnitude %IZSN at 25°west of north.
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Find the magnitude and direction of(a vector given its component form: use the formulas
To find magnitude, use the Pythagorean Theorem! To find direction use right triangle trig!
2 2 "
Magnitude: “V” =4X t)y Direction: @ = tan '(—y—)
X

' If your angle is in Q1, use the value in your calculator.
T S\O g KO e If your angle is in Q2 or Q3, add 180°

Lv(ﬂ"u If your angle is in Q4, add 360°

EX9: Find the mignitude and direction of the vectors shewn whose initial point is (1, 9) and whose terminal points is
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Ex 10: Find the magnitude and direction of the vector w = (—3, —4) Qg 5 + l? O 0
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Vectors can be multiplied by a scalar, added and subtracted. These operations can change the magnitude and direction
of the vector. The answer is called the resultant. Please keep consistent form. CJ’\ U
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Operations with vectors:

Given the linear combinations form of the vector V = —2i +5) and W= i—=3], findall the following:
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Given the component form of the vectors # = <6, 8> and V = <‘1, 0> , find all the following:
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